2x +4 =10-4x

@ 2x-4x=10+4

® 2x+4x=10-4

@ 2x+4x=-10-4

@ 2x+4x=10+4

® 2x-4x=10-4



-2x+5="T7-5x

@ -2x-5x=7-5

@D -2x+5x=T7+5

-7-5

@ -2x+ 5x

® -2x-5x=7+5

® -2x+5x=7-5



@ 23+x)-2x=0
@ x2-2x4+1=x>+x-1

® —x+3=-x+5

@ 3x-4=4+3x

@ 3 =2+ 2x2



@ x2=2x+4

D 2x-2=3+2x

® gx:x—l—S

® 3(x-2)

3x—6



@ -4Ax+9=9-4x

® 3x-2=5x+38

@ x2+5x+6=x>+1

® 2x? -7 =x(2x-3)

® x(2+x)=2(x+1)



2l
il

A bx—-4(x-1)=8-x

14

o

A

—

@ x=-1 ® x=1

DO x=-2

® x=3

@ x=2



SH A -T)+2 =3(x-8) + 1014 ¢ FS BT HHoR
ShAl 2= o] ax + b = 09 E= HERW 2127

® -3x-3=0 @ -3x4+3=0 ® -x-3=0
@ x-3=0 ® x-1=0



A

4x—-5=2-6x

@ 20 ® 30 @ 56 ® 70

O 12



ohg 4 F QAR AL BE 9 AR
QD 3x-2=7 O 3x=2x-1
© 3x-2=x+4 ® x*=3x+2

@ 2x% -2 = 3x + 2x?

@17 @ 2 7| @ 37 @ 4 7\ ® 57



10. He<H7]>F QA4S =F 27

£
@ -2x+3 © 2(x-1)=2x-2
© 3x+1=5x-2 ® x2-2x-1=x2-2
@ 2x-1<x+2

@1 @ 2 7| @ 37 @ 4 7\ ® 5 7



e % WA x4 7=5-ax 7t A%

11.

-
ol

@ a=2 @ a=-1

Da=1

® a+-2

@ a#-1



2x+b=5-ax 7t &

=~

& % WA

12. o

=-2,b=5 ® a=-2

@ a

Da=2b=5

® a+-2

@ a=+-1



— |

X =

©

0|

MmN

I

= =

Q ©
el

10 | |

Il Il

= =



@ 2(x+1)=-x+3

D 2x-1=2

@ -(x+1)=x-5

=X

®4-(x-1)

® 5=2(x+1)



ohe

441 0.6x - 2 = 0.1x 9] 3E FolH?

® 40



16. ohe AapEE Al Zo 4] 0.12x — 0.1 = 0.26 T} 37} 22 HL9

D 3x-6=0 @ -2x+3=-3 ® x-2=11

@ x-5=8 ® 2x-6=10



17. o= FolA ot Aol &2 A2?

Tlo

D 4+2x=-3x—>2x+3x=4

@ —-4x-3=x+1->-4dx-x=1+3

®3x-1=2x+1->3x+2x=1-1

@ —x-4=5x+2—>-x-bx=-2+4
®

3x=6x+11 ->3x+6x=11



18. Y= F e 3 &9 ool 4] ¢ A2?

O x42=-1 - x=-1-2

@ —4x+6=0 — 6=4x

® 2x+5=5-x — 2x+x+5=5

@ -2x-3x=5x —> —-2x-3x-5x=0

® 8-6x=x-12 - —6x—x=-12+38



To°

Fhu

o

?

el

c
D a+c=b+

@ a-c

b-c



ORONC)




21.

WA 2 (3x-4) =3(x4+5)+1Sax=0b 9

#2? (HFa>0)

i



—1Cax=b (P a>0)0 B jepd o,

5

sh?

:’7_

O
=

a-b o gk

@ -7 ® 0 @ 2 ®7

® -14



oS & WA x4+ 5(x—2) = —17 - 3x o] 2} L FH S =
PRS2 T?

@ —x+10=3(x+2)-2x @ 3(x+4)=-(x-8)-4
® -(x-3)+9=23x-1) @ 4x-(x-7)=-2(1-x)
® 3x-(x+4)=x-5



24.

3—2x ] Adigro] 3x +4 o] AdigiHt 1 & o, o]
o] gr-& HL5 Fotofet,



6x—14=2(5+6x) -3




